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Evaluate the integral _l'l2 xlnxdx. -If xlnxdx Jall dad s
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A force of 10 |b stretches a spring a6 in pali 14 10 Ib (e 58 caal
6 in from its natural length. Find the 138 el U.-: o guall {_L....l'»:u.....h]'l algh
work done i, stretching this spring bl dlgh o2 sl 9 in (il
9 in beyond its natural length E ft=12 in]}
(1 ft = 12 in). €inz=6=11= ‘};2)’
Oiw = 9314 = }:,4 gL
Fe kX
leck(i ) K=2e
a. W=15ftlb O

w Vx)>20 %
*y

: <[ 20%d
b. W:%ft-lb v ‘[299‘ o O
- 45 eV
T3

@ Wzgft-lh O

d. w:l—;ﬁ-lb O
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dx = tan 5 i ¢ | dx % _tan e+ ¢

1+x™

Where m = 0 ‘I~3 A o m® 0 Gus
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| 33 O

C. m=28 O
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Identify the integral for the surface G S ol 5l sl dalical Jalsall saa
area of the surf~ce of revolution for ds 1 S x<2 &y =vVx gy
the shape dascribed by X gaal
y =+vVx. 1 < x < 2, revolved about

the x—axis.

bh. SzZngv’E{l.a-‘}—lxdx O
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A diver drops from 120 ft above the pladl (362 120 ft pl&5) G bl biew
]

! 20 .0 - .
water (about the height '3‘-6;(’3 5\7' Le o (Luyis Al Al ) alal)l Liais £ la))
of an Olympic platform dive). What Calalaay) dlial bl dgatial) de )
is the “"“ver’'s velocity at impact? (32 ft/sec? dudad ot

(gravitational constant 32 ﬂ:_/seczj.

a. —32ft/sec é> O

POW NI
b. E ft/sec bc‘e) 0 O

Y F ARy PR

<) 6 s :E:/ o

@32 E ft/sec Y a‘,’y(’l/\ ? O

9 9( =) -1 ( )
3%

d. 120 ft/sec 7 - O
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The differential equation ualll A y' = % dalalil) Alataal
yn = 1':':_: is separable. Find the Taupa sy alad) Jall 2ol

general solution in an explicit form.

9 . o
‘;‘T‘ \+ x*
A 3k
a y=x"4+1+c¢ 3;,-—-38 :% 'L——‘*‘*q’ . O
a)
)
Qalg] = %Q"h“- Y

-":@ y ="V

V !.(-*Q.
d. y=Ih|x*+1|+¢ “ /( ' O
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Find the mean of the random Ul D el ) Ja s agl
variable with the probability density Ball e fix) = 3a% (pdf) e
tunction (pdf) f(x) = 32% on the l0.1]
interval [0, 1]. l
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Which of the following is not S pdf) Ll Sl By Sl L Lea g
[

a probability density f (pdf) .-au-i,%

on the indicated interval?

-
3 f(x) - €5[0.In4] f e ‘) ¢ = D j CO S é& “ D o]
° .
D7 .

W
& fla) = :xe_la,z| j 8\'%}0 J ]
| -/
t

4

w
d f(x)=cosx, |l'l.;—|
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Tolalall i gis alaaials iljsd puins axs G
Let R be the region bounded by 32 = 0 Ay g Ul a R o
12 i .
x Il.y-;x'nnd)-- 1. What is S ) paa s l,y-ia'
the volume of the solid formed by Ty g S R ps s LD

ravolving R about the y- axis?
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T gl ola Ml 35 slasiails pelie pidius Joo dibus jliss oo BIU Bsme pt puns px G
Find the volume of a poltery jar that Al A ablhe 4 glab o) paa dagl
has circular cross sections of J { 44 sin*;:l cm b iy
radlus [-l + slnﬁ] cm, for O<x<2n
0D<x<Zm

.(31-\5;"‘*1 A
@V—[33r+j-r}cm . _ < L\\*s.\f ev

b V=33n% cm? '\- P\(.*‘) o -“ ( @]

V = 65w em? 1 A - \\'b@ .'US (0]
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Evaluate the Integral | : dx. a0 b | “,' Sidx o dad say

a
where a = 0

A %col '{E] +C \ a d O
a a
:tan tx4+C a '* * (5]

A
- \ \ -t £ ¢ ®
s = & e
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In terms of A, A; and A, idantify el Laleall din Ay Az Ay Dy
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Identify the integral for the surface S U Al gl el daliea Jall) s
area of the surface of revolution for depd<x<1day=e" i
the shape described by X gl
y=¢€%, 0< x< 1, revolved about /’ <

the x-axis. D "te 2R
(977 =%
)

S—-rr[le' 1+ e*rdx
A
- S——'
@S:an-ie’mdx S- ge \+"€"A é & 0O
1~
S=2nL‘mdx O

1
d S=rrf e*V1+ e dx O
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15
i W= ft-lb

w i ft-lb
=i

W = 15 ft-lb

W="175Mtlb
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A force of 5 [b stretches a spring

4 in from its natural length. Find the
work done in stretching this spring
6 in beyond its natural length

(1 f=12in).

W G 4N g 208 5 Th e b Slal

I

AL

12 in) apd) dlsh (& s 6 in
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1agazall Jol€ill alaziuly iligs puzal ghull ol e
Identify the integral for the surface S U Al gl el daliea Jall) s
area of the surface of revolution for Jpldzx<1laa.y=¢€" gy
the shape described by X gl

y=¢€% 0< x < 1, revolved about

the x-axis.

1
S—-rr[e'v'l-keg’dx O
0

-1
b S:l!rrJ e*J1 + e?*dx o

0

1
S=2!rJ-\Jl+e"'-’dx e
0

1
i S=rr[ e*V1+ efdx (@) G
o -



